



Nombre: _____

Fecha: _____ Puntuación: _____

$$\left(\frac{1}{4} - \frac{2}{3}\right)^2 - \frac{1}{5}\left(\frac{3}{2} - \frac{2}{3}\right) =$$

$$\left(4 + \frac{3}{5}\right)^2 - \frac{1}{2} \times 4^2 + \frac{2}{5} =$$

$$\left(\frac{1}{3} - \frac{3}{2}\right)^2 - \frac{1}{2}\left(\frac{3}{4} - \frac{1}{4}\right) =$$

$$\left(3 + \frac{2}{3}\right)^2 - \frac{1}{2} - 5^2 - \frac{2}{3} =$$

$$\left(\frac{1}{2} - \left(\frac{3}{4}\right)^2\right) \times \frac{3}{5} - \left(\frac{2}{5} + \frac{1}{2}\right)^2 =$$

$$\left(2 + \frac{2}{3}\right)^2 - \frac{3}{5} \times 4^2 \times \frac{3}{5} =$$

$$\left(\left(\frac{1}{3}\right)^2 - \frac{1}{2}\right) \times \frac{1}{2} - \left(\frac{1}{3} + \frac{1}{3}\right)^2 =$$

$$\left(\frac{2}{3} + \frac{1}{4}\right)^2 - \frac{1}{2}\left(\frac{1}{3} - \frac{3}{4}\right) =$$

$$\left(\frac{3}{4} - \frac{1}{4}\right)^2 - \frac{1}{4}\left(\frac{1}{3} + \frac{1}{2}\right) =$$

$$\left(\frac{2}{3} + \left(\frac{1}{5}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{4} - \frac{1}{2}\right)^2 =$$



Nombre: _____

Fecha: _____ Puntuación: _____

$$\left(\frac{1}{4} - \frac{2}{3}\right)^2 - \frac{1}{5}\left(\frac{3}{2} - \frac{2}{3}\right) = \frac{1}{144}$$

$$\left(4 + \frac{3}{5}\right)^2 - \frac{1}{2} \times 4^2 + \frac{2}{5} = \frac{339}{25} = 13\frac{14}{25}$$

$$\left(\frac{1}{3} - \frac{3}{2}\right)^2 - \frac{1}{2}\left(\frac{3}{4} - \frac{1}{4}\right) = \frac{10}{9} = 1\frac{1}{9}$$

$$\left(3 + \frac{2}{3}\right)^2 - \frac{1}{2} - 5^2 - \frac{2}{3} = \left(-\frac{229}{18}\right) = \left(-12\frac{13}{18}\right)$$

$$\left(\frac{1}{2} - \left(\frac{3}{4}\right)^2\right) \times \frac{3}{5} - \left(\frac{2}{5} + \frac{1}{2}\right)^2 = \left(-\frac{339}{400}\right)$$

$$\left(2 + \frac{2}{3}\right)^2 - \frac{3}{5} \times 4^2 \times \frac{3}{5} = \frac{304}{225} = 1\frac{79}{225}$$

$$\left(\left(\frac{1}{3}\right)^2 - \frac{1}{2}\right) \times \frac{1}{2} - \left(\frac{1}{3} + \frac{1}{3}\right)^2 = \left(-\frac{23}{36}\right)$$

$$\left(\frac{2}{3} + \frac{1}{4}\right)^2 - \frac{1}{2}\left(\frac{1}{3} - \frac{3}{4}\right) = \frac{151}{144} = 1\frac{7}{144}$$

$$\left(\frac{3}{4} - \frac{1}{4}\right)^2 - \frac{1}{4}\left(\frac{1}{3} + \frac{1}{2}\right) = \frac{1}{24}$$

$$\left(\frac{2}{3} + \left(\frac{1}{5}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{4} - \frac{1}{2}\right)^2 = \frac{349}{1200}$$